TRUARE 1L BOMINIO g/4a/zoz/

| y=— +Vx*+ 1 [xZ=1Ax#£0]
VI x
Ix| >0 [x#o {,{4&0 !
Xd0 A x2 -4
X3+4 20 )(3 2 -4 X2 -4 i
L/
RAD(cE CUBIA

D:[-4I0)0<0,+0°>

V16 — x? .
= —4<x<3V3<x<4
Sl Y=o Tasx<3vicasdl
16-% 20 {Xzé 46 {’4\"‘ £4
2
x=¢x4afo L (x-3)%0 x 43

~48x%4 A x#3

D:[-4,3)0(3,4]

Vix— 6 [3 ” ¥ i % ]

A —— Sx<8vx~>8

- 2} QxB_sz 2
4X-¢ 20 x > §2- {x? ?_-
xg—gx?‘o xz[x—ﬂ#o X4o A x?Lg

D”‘[%/ g)u <g/+°°>



- 1 [x #£1Ax #2V7 ]
\_/1,
XF-AAXFA N £=VF A x%ﬁ)?-

_X:

[x=4|-2 Fo
l><7'—4\?13 {x’l4#3 {xz:fy. {x#.ﬂfi/\ x#J?
xzf/f

Xt"475—3 ><7£..4 A xEd

D = [P\i-—f(,o{/—‘\);,’t);} s

E ("“/"\ﬁ)u('ﬁr"')”("’/")u("/ﬁ) = Gﬁ/*“)



STubro Dbt FuN2(oNE

C (x+2)(x+ 1)
A V= x— 4

J) DoMIN[O X-440 => x4 D:(-oo/ 4)U<4l+—0°)

2) IVMEMSEZ . @ Ul 438
2enl (Aut. ot x)

{ gz(x*'?f’;f"L (x+2) (x +4) INEEEE
= 7 =0 = =—2 V X=-4
i A(—‘Z, 0) B(*’I,o)
-2 2 -1 ans ZEN OM&/ @.«Ww«/
INT. AWE 4
__(x-l—z)(x-l—'t) L z_i :_i A
—17] ~4 2 C (0/— 5)

X~4
X =0



3) sTunlo BB SEMo

@D
X~4 X -4
-2 -1 4 ©
@ X42%0 => X>-2 — 04+ | x +
@ x+1v20 —> x>-4 — |-0 + +
@ X4v0 —=> x> 4 1 - | ~ *4.
_Q+e - F 4



y = 3x|x*— 9x |

/13 YOHINIO b :ﬂ? = (_oo/ -|—c><>>

.

A

2) M1, s

2
{u_\:}x[x~3x{ - sl =Tsel 2 J

4=0 (amex) 3
0@,0) As,0) [x(x-2)] =0 :“«;
Z’wc& R snica siktrms. u ) one o
3) SEMD ¥ yEm
3Xv»0 X>»O - ¥ .|

3><[x"— Sx\ >0
\ ) J

() ) IXQ:-‘SK‘>O = xfoA X% 4 + T




y=V2x2+7x— 4

5
/f«//ézsa
4

2%+

sl

e

2) (M. Al

> 2
T\ 2X + X~ 2
%‘S ’\[ 4 :7 l/2x2+?X—4 =0 => 2)(2-4'?—)(—4 = O
(3:0

Aad48+32= 91

A(-4,0) B(%,o) = -453 =<-4:
i@iﬁ‘?‘; f>{a=%ﬁ; Ry
X =0 X =0 C (O/_g);)
3)3554/‘/0

\}2><7'+7-X—4 ?0 => 2x7'+?—x—4 SO




